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In 1955, Martin Luther King Jr. gained national recognition for his non — violent methods used in a
bus boycott in Montgomery. This peaceful boycott, under Dr. King’ s guidance, changed the law which re-
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quirded black people to ride in the backs of buses. After this success, Dr. King used his nonviolent tactics in
effect to change other discriminatory laws.

Dr. King urged Blacks to use nonviolent sit—ins, marches, demonstrations, and freedom rides in
their efforts to gain full freedom and equality. Arrested for breaking discriminatory laws, Dr. King went to
jail dozens of times, he became a symbol around the world for people to protest peacefully against unjust
laws. In recognition of his work for peaceful changes, Dr. King received the 1964 Nobel Peace Prize.

1. According to the passage, as a result of his protest in 1955, Dr. King became

A) peaceful in his tactics
B) famous in the United States
C) frustrated in his efforts
D) successful in"the transportation busines
2. The passage answers which of the following questions?
A) When were discriminatory laws established in Montgomery?
B) Who arrested Dr. King for breaking discriminatory laws? -
C) How many marches took place in 19559
D) What special award was given to Dr. King? : 4

XFIEA Martin Luther King Jr. f308, 2 BRMAT AD THE - £ TS LR RN
H et R AE AL

MFRFRARMFERERLEH"HEREBORN L FRENRE2EH.

(2) BFrLUER S 07 XS BR AU KB E IURFIT3.

MARBMEXEXE . HAU LERERAEFZHT . ER.BINERED . B 2HERE
D),

2. Wik 30, WRXRFARFEEFNRN —FE. EHEHREFRE —MER KRB ML
Wik, WikXZ AT ARELTIFE, LR IGLH £, RFEE WL AL EFOSE ZH
A XEMNESR. WX EBEA P — RN RERERRBAORFELE) , ——IEEHW
AHMAEERENE . Him: '

Desertification (¥P{L ) , the loss of the soil’ s biological productivity, occurs naturally to a limited ex-
tent. The pace at which the process has spread resently, however, is largely man’s own doing. This fact
was highlighted by the great Sahal drought of 1968 — 1973. The worst effects of this drought were caused
by nomadic ({H£#HY) people who had earlier been forced by national governments to adopt agricultural and
grazing practices that were not in accord with their traditions. In common with those of other nomads a-
mong the world, such traditions involved never staying in one place so long as to exhaust the earth that pro-
vided them with sustenance (8 .47 ). When these people were not allowed to follow this tradition, the
process of desertification moved ahead quickly.

1. According to the passage, what can be said of desertification?

A) It is a wholly natural phenomenon.
B) The Sahal drought was the first example of it.
C) It does not occur naturally.
D) Man has worsened this natural process.
2. Where does the author appear to lay the blame for the Sahal drought?
— 2 —



A) on nomads around the world
B) on some one in authorit.y over the Sahal nomads
C) on natural causes |
D) on the traditions of the Sahal nomads
3. Which of the following may be inferred about the author’ s attitude?
A) He disapproves of nomads’ traditional attitute to the soil.
B) He approves of the recent pace of desertification.
C) He approves of the nomads’ new grazing practices.
D) He approves of the nomads’ traditional attitude to the soil.

ERUGE X F ORI, I “HIRE X EYHEFRN" X—ARRERFTAN _FHEHIK
HERE AEFERERRRT AFER UL AR SHEEBRT , AR IR R SRS
1, 3A A I T EE R — K I ABHE R B, R RSBV S B RE KRR

EHAEENR, EEEREN . AR AHEE, TEEENCE RSB ESRE. fiim,
B RRESRMBAEENZEZ D). HEE 1,83 228008, —SE L EFRXFESY
WA, HLTETR A 2 A RE B.E 3 HIERED). -

TE I 318 , “According to the passage *--7 ”“What' s the author’ s attitude-++?”,“In the author’ s
opinion-«+? 4§ JS i [F] B R 38 BR % A W A 3 ) B R [ 2 R A )

©3. HISC. HHXRAFEREARBRRRAE - FYRER R AR S ESS. %
WX RRAFERE AT 4 KB H S,

O/ E XA RIRESRRE “FOEY"HFHRFE. TERANS M FALHILLFE,
REFRRE—FY, Wi ERES“FOEYH#HT BEESTLEYRRENk.

BB XZRATFHRAMELBHARENXF . IRAXTRE B IE TR EBHTIHE, B
SR EBEREN, EREE, Iﬂliﬁ%%%ﬂﬁ?ﬁ)‘cgfﬁiﬁ THEXER,.EREAWREES

KEBZPXER.
' (3) B XA R B R R IE Ry MEMSEE, TR MER Y T BE A XF W REN
THFEELE, MFEEAENEN T EEHEEE. '

YA SCEERHAAT EMA MR ER TN — SR . !maaﬁlﬂ%?é)tﬁ RO BB S B R
BEREEENBEELE.

U SCAE T R R R AR S R B . i

As in the field of space travel, so in undersea exploration new technologies continue to appear. They
share a number of similarities with each other as well as some important differences.

Manned submersibles, like spaceship, must maintain living conditions in an unnatural environment.
But while a spaceship must simply be sealed against the vacuum of space, a submersible must be able to bear
extreme pressure if it is not to break up in deep water.

In exploring space, unmanned vehicles were employed before astronauts. In undersea exploration, on
the other hand, man paved the way, and only recently, have unmanned remote — — operated vehicles
(ROVs) been put to use.

One reason for this is that communication with vehicles in orbit is much easier than talking to those un-
derwater. A vacuum is an ideal medium for radio communications, but underwater communications are
limited to much slower sound waves. Thus most undersea vehicles— — particularly ROVs— operate at the
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end of long ropes.

For a similar reason, knowing where you are undersea is much more difficult than in space. A space-
ship’ s position can be located by following its radio signal, or by using telescopes and radar. For an under-
sea vehicle, however, a special network of sonar devices must be laid out in advance on the ocean floor in
the area of a dive to locate the vehicle’ s position.

Though undersea exploration is more challenging than outer space in a number of respects, it has a dis-
tinct advantage: Going to the ocean depths doesn’ t require the power necessary to escape Earth's gravity.
Thus, it remains far less expensive.

XX T R A TIRAEKAE AL ASNEE RS F e KA B, R H AR S
A A 5 A THR YK AR BIE BB T A EXBENE, 1 X REBEAET .
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2546 B a9 AE Bigs, inig1Z  UE R T Ar 4K .
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B BE, tn“hard”— iR E B R , B EA B MR, TR E, A £ T 5 “training” — {5 #£ B
ZHBAIN, A BB — T EENB S R ERBEFHET AR B 21T, Bl KK ik
P8 BT, e R 0 0], S Ry ) 12 SR . RIS WS — AR — a8 a sy L0149 1%
.

. ETHEX®RA
BiEnT, W AR - A F.NRE LR, FEERLM, YEFEREN, EER A m
MFF, RE SN2 ARNER. EET EHHHLBANE X TRATY, RERET
Y G TR A =i <8217 . B 40 : They play baéketball even in the dead of winter, throwing out little puffs
(—HE I&)of steam as they shoot away at the netless rims ({EBRZE TR, 43X A)iEH —iEE .
Which of the following is implied in the sentence? -
A) The kids play basketball only in winter.
B) The kids are afraid of cold.
C) The sports equipment is poor.
D) The kids play basetball without rest.
40 3 JR/8] T o ) “netless” A YE B, TR BT BE € 203X 1~ 818 BT 40, & 69 18 BT 2EAT R M0 6 3
“netless" ZIF“WH M FHIRE"”, EME LHMIXR“ BN FAHE", LT EFHERNILE O.
W, BT IOEE A LR AR R+ EEA.

7~ Fl) B3 3CEE 1) 18 71 W R A2 8] (5]

N A R /NS T S TR AR A 20 W A S R, B LT I i Az R, iR, R &
08 A0 R AL 7 R Y A 1A AR IR B K, I R AR S RS AR g TR R SR R 30k
00 A W A9 SC, N EA R IL R E R AR

LB SRR R E Xi?eTﬂ%?‘é)‘(a#’tﬂﬂﬂ‘)ﬁiﬁﬁﬁé’)ﬁﬁﬁﬁ RERREAKER
BB XEFHAKD. i

Oceanography has been defined as ”the application of all sciences to the study of the sea.”

"Oceanography” X 117 A F K £ B AR A 7 L (ELEAT 5B SRR B AR W2 i B
G :

HEBEENRE, LRIFEUE—EILEE TR 87 EERRXEN ETH, XENHA
T4 B2 PR Sea 1 hn LA 15 A Y o B HAE PR 13 o — 2 A AR 1R R R

34 A ] AT KRR L 0 TE SO iR B SOEWTRE R L. Bildn

To the west of this river are many kilometres of grassland ”the Pampas” «++

The farmers there put up wire fences and make a big fields. In the fields they keep cattle and grow al-
falfa. Alfalfa is a kind of plant. The farmers feed the cattle with it.

1T "pampas” il "alfalfa” 4} 5 #4872 SCERPR % » 152 AEWT TE BT & $6 2 erassland fY 4 Fx,
11 F U M TR T —Fh e . B BT R AT Y1 AIE The pampas 2T R KEFR"H L, B
RETE alfalfa 58 16 BT TS "0 RERY B 117 L (B 3F R 105 BB 2 05 65 4 2 10 B0 % o

A I ¢ S SO R SO W, — ARORAR AR B 1] 5 B 2 (1] () 4 B 9% AR BT 8 1A L

2. [ S 0 S B SCIRAR TR . A A IR Y SCRT L A [F] S Ut S B SCiET Y i B AR
*. Bl
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(1)You feel ”charge up”, ready for action.

" charge up " XA T BB IF £ A AR, HIE S5 H A [ L iF 41" ready for action” FEIFX
AR T EROEESRBATE.

(2) He felt narked at Tom' s unfair criticism. When Tom noticed his annoyance, he stopped immedi-
ately.

M) F o, BT LA W “narked” &”annoyed” B EAME, BA“RiK".

(3) He faced great peril in the forest that night. But the brave man came out following morning safe

and unharmed.
LU peril” 9B sater MR RAER I .

3. BINESR T « A L SR R LA GE o BE AR A a9 B R

%4 : Do you participate in one of the more popular avocations, such as jogging, stamp collecting?

/]F " jogging” (1) Fil”stamp collecting” (£ WF) # A 3L FIFFAE, IR F AR FZF"HIE
B » B AN XE BT 52 " avocations” {18 XL T . )

4. TR RAR . TEFEN, A EE R E BB T LRI E MM WIF R EN . #1 : fRETREM
FWiFf uncontrollable X~ , fH {4138 5] 4] control f9 F B, MW 4H 47 1% #9 = A B 4) un,
control, able {RAJLATE HXFH & L. — MU AHR N EEDPATSHE S, B IR IEERR A
R EHMEXRTTHHENE L. W

comfort (£F R ) —=comfortable (£F if Y ) —comfortably — (&F if #li ) > uncomfortable (R &F iR AY9)—
discomfort (A &F IR, A H 7E) »

convert (§%74F FEda)—reconvert (FF %475 ) —convertible (W] B ZE Y , 7] 2F 5 i ) —=unconvertible (O~
A RET)

BEL NI ET:

(1)Jack is a bookish person. He never goes to cinemas and rarely watches TV, .

X 4] 7 Y " bookish” f&" book” 1l f5 41" ish” ¥ I AY T ¥ 18] . HE T AR BB L. XM EAHEHE
BEHRET . “BESH, BRT"H,

(2)The man said that he knew very little about music and he was unqualified to teach the course.

"unqualified” J&{a] ) “qualified (J 13 ¥ 1%, R & S # &), "INAT S un F1 /5 5 ed ) 1R B T2 25
i, B AR B SRALG, AR,

5. M ERA A ERTEANGFHCEP MM E 5 4E1 2 9 5 RRHEWR L H
A AR R A F A B U R E R U E TR RS X, XK R S AT R A B
%, pitm. ,

(1)They play in the heat of the afternoon with not much more to fuel them than a can of soda and a
store— bought pie.

(2) The man has got car mania. He spends all his money on buying both old and new cars. His wife
threatens to leave him forever if her husband does not give up that expensive hobby.

RIEET XA ER, AER H (DA " fuel” (BB REVZARE", (2)8 F 49" mania” §) BB
BB L RE. _

A A LB E] — 2 SRR A F RS AT B A E B H W A
W . Bl

I became angrier and angrier as John talked, but I refrained from saying anything.
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mFA PR T 5% SGE out”, Wi fEFHFPEE&A FRRMEER X LT AR, Bk
B SR AT LA BT 5E refrain (& hold back f9E &,

X -

By anticipating the murderer’ s next move, the police were able to arrive at the woman’ s house before
the murder occurred.

‘] F i by ﬁiﬁ%m,iﬁ:T§$E$%E%’<E¥T§#¥&,Z’ﬁué’t‘i}"l%$?&$2‘ﬁﬁmﬁ
Y. 4588 X, 7B " anticipating” i) ZE A7 SOV R “TR " . '

I ) 35 72 A2 0] X 2° RE 4% 77

35 AT 2 T S PR AR , FR B R K F FF R RIS R £ 5% 8, LR e
A4 R MM EMBT KL, -

2 VIR ARAT R 4 % SR RAR AN T A R B RS, XA G BB E
TO%ZER .

I W FE % B V] 404> 4 W £ (main idea), B H (title), +fy & B #9 (purpose), 453X H 4k
(source) , JLEE Y (implication) , #E4 ( inference) FI451 (conclusion)ZE, FIIFMB H B ZL T
T X 2678 X B A - .

What' s the main idea of the first paragraph?

Which of the following is implied in the passage?

What' s the purpose of the author for writing the article? &g,

X AN ] i AL, o] SRS W 2

WMErprE, RiEEGEE AT KE, ZU=MEA SR 2. FEAHEE., o. THEAHE
B e F W HETE BRI TRAR A .

— BRSO EVTE R R ) R X 5

XA R A R R B W R A KRBT ERC PRI AN SR, ILREEE H
. EIFEIFEMI, X2 E e R B R EE AR LU AR B A A , 1M 2 LA & 77 = A
PRIEA, XM TBEXSERAHMEN  EHELERNFREESFRXFEEEX LHFHER, XA
BHXFREEHERIER. FL L OREXFROQEERTS ABE"NEWIREE, i 2
REROWBI AT FELWRYXFER UPFRIREMET N XERYERBAET TR, E
[0 285 () A B R e R — I A 8 . X R A A BIRAR T IR0, (HX B A A R A TR AR, PR
EAB.OD . FINFHAA—EAMRTNE, MERXEFH—AXHLIE“We are con-
cerned to develop the abilities of all our pupils to the full, not just their academic ability” .
EF XX A E, AR I R

The author argued that a teacher’ s chief concern should be the development of the students

A) personal qualities and social skill
B) total personality
C) learning ability and communicative skill

D) intellectual ability



fREnt, A ARV ERE, NESE RS FESCBHoRELN . BN EREREB). B)
17 total personality” %EJ2 i [R3C H " ability of all our pupils to the full” ;jiij A) /A B AR
EEF XXMM OFFEAMEERREXFTRABRABFEDAESRXFETEAF. X=4E
EBERF, U AGREHN, BN EEETRSIEE, EXHFEART . LEBATFREAHSS
EXAFHHE XHEER—ERFA RN EmRAEET S R GE R EERmELT, U
REWER. W AAFEEEFRHS . RTHRERESR.

B2, B & 35 3 AU TR AR, B2 LA TR SO IR R (AR JE p9 e 4 00, 25 Dh 7 3T SRME R U i &b
MBS IEBRHER. '

= EEREREN S EAE

FEARBEFEREFANGEBIER S, MENMER TSR E — M ESBIEF KT
BREYIAER A F, R =T, — A N E a5 oL -

1.3 FER, AFEBFF;

2.3 F Bk, R RESCR M T4

LR BAHREMANE:

4. R Y], A R A F k.

51 i : Because of the energy crisis, scientists in 'the oil consuming nations have become increasingly in-
terested in the potential of solar energy. Some experts estimate that the present supply of fossil fuel will not
last until the end of the twentieth century. The problem that solar energy researchers face is how to harness
the sun’ s energy effectively and inexpensively. One of the most popular meth‘ods currently being tested uses
rooftop solar collectors and underground storage tanks. An advantage of a properly working system of this
type is that it will not create any environmental pollution. Another advantage of using sclar energy is that
the cost of the fuel, the sun’s rays, is zero. When a solar heating system is working at maximum efficien-
¢y, it can provide up to 80 percent of winter heating needs.

The main topic of this passage is

_ A) the shortage of fossil fuel

B) the problem that energy researchers face
C) an environmental pollution problem
D) an inexpensive energy source

ARICH) ERIR AT 47 ARIEIEUC, X SCRHY ERROLR " R 22 UF 9 A8 B IR — KR AB A A 7
EWRERNED), B AT R, AERFESCHFE DM B FES:OAHYLInBAE,
BHB AT E.

= S TR R VAR R O T R R R

X PR RO — M EORF AN T F BTN EFTAER, N CEN R AR R
FHFEMA R AL T Sh 2 B AU — AR R AT B TR,

B — LA ETRE, —EAFEE. BT REMREXRAEEAMANNETX. 2
AR ERE , A REIZ I 7 BAT A IES 3 X,

IR PO I, =TI R R

L ERXEEMFE:
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2 RBEXEEE, EMAEE;

3. i BB,

5] 4n . Washington Irving was. in fact, one of the most successful writers of his time both in England
and in the United States, delighting a large general public and at the same time winning the admiration of
fellow writers like Scot in Britain and Poe and Howthorne in the United States.

What is implied by the comment about Scott. Poe and Howthorne?

A) Irving enjoyed great popular admiration.

B) Scott, Poe and Howthorne were primarily responsible for Irving’ ssuccess.
C) Irving’ s work was not only popular, but also of high guality.

D) More Americans than Britons admired Irving.
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Passage 1
The standards of science teaching are set by the university professor who, in principle at least, divides
his time equally between teaching and scientific research. The professor writes the textb&oks, develops and
directs the college science curriculum, and trains the elementary and high school teachers in science. Indi-
rectly or directly the university professor js responsible for the quality of science teaching at every level
from kindergarten through graduate school. If science curricula and teacher training are to be improved, the
professsor must lead the way, for only he has the necessary 'resourcs: the insight into the structure and
content of science. control of teacher t;ra.mmg in science, and the resources for instructional research and
curiculum development. I am sorry to say that the professor has hardly recognized his responsibility, let
alone fulfilled it with much distinction.
1. Who sets the standards of science teaching?
A) university profeessors.
B) the college science curriculum committee.
C) the textbook.
D) teacher training program.
2. The professor can improve science curriculum because he has acknowledge of .
A) the structure of the school systems '
B) the development of teacher training
C) the subject matter
D) structure and resources
3. The professor has a great influence on
A) funds for scientific research
B) the responsibility of the teachers
C) the teaching quality in the schools
D) the necessary resources foi the textbooks
4. The responsibility for the quality of science teaching has been acknowledged by 5
A) the author 4
B) the teacher
C) the professor
C) the curriculum
5. The professor has developed the quality of teaching
A) responsibly
B) with much distinction
C) with great insight

D) in an inadequate manner
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Discoveed a mere one hundred fifty years ago and manufactured commercially just half that long, alu-
minum today ranks behind only iron and steel among metals serving mankind. The key to its popularity is
its incredible versatility. The same metal that makes kitchen foil serves as armor for battlefield tanks. The
material for lawn chairs and baseball bats also forms the vital parts of air and space vehicles— — most of
their skeletons, their skins, even the rivets that bind them together.

Behind aluminum’ s versatility lie properties so diverse that they almost seem to belong to several dif-
ferent metals. For example, in its pure form, aluminum is soft enough to whittle, yet its alloys can possess
the strength of steel with only a third of its weight. Thus, when Alexander Calder designed one of his last
mobiles — a soaring creation eighty feet long — his choice of aluminum over steel cut two tons from its
weight. Aluminum also assures the masterpiece virtual immortality. The instant the metal is exposed to air,
its surface acquires a transparent film that seals the interior against further corrosion.

1. According to the passage, the use of aluminum is s

A) greater than that of any other metal
B) equal to that of iron
C) less than that of steel
D) to be ignored
2. It can be inferred from the passage that aluminum has been marketed for how many years?
A) 40 B) 75 C) 80 D) 150
3. The most important feature of aluminum is that it
A) ¢an be used for many different things
B) is soft enough to whittle
C) is strong
D) can be marketed in pur:s form

4. It can be inferred that a steel object weighing three tons would weigh how many tons if it were

made of aluminum?
A) One B) Three C) Six D) Nine
5. It can be inferred from the passage that things made of aluminum

A) are usually sealed with plastic film
B) are not very popular as art objects
C) will last a long time

D) should not be exposed to air for a long period of time

Passage 3 )

Students all over the world have to work for their education. A ‘college education in the United States
is expensive. The costs are so high that most families begin to save for their children’ s education when their
children are babies. Even so, many young people cannot afford to pay the expenses of full fime college
work. They do not have enough money to pay for school costs. Tuition for attending the university, books,
for classes, and living expenses are high. There are other expenses such as chemistry and biology‘labotatory
fees and special student activity fees for such things as parking permits and football tickets. The cost of a

college education increases every year. However, campuses are still crowded with students. Some American
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